—

24

£

i omd)

pun

P4

)
Y.

100# &

O/ 1 28R
O Rx#
ORI EE
ORBHILFH-
O = &4 kSR & A= % (MAU. RCU. AHU. FCU)
O 2R+~ HarE 53
O st
O s N45F 7
O sx 4 # Fu(AHU. FCU)
O BEMFH
O¢ e+
O#F:id ~ FIR3F PAL VCPav:ie 5
O LT - Lk
FE-XF A RED
Orag
OF¥ %
O XY - Pirt i
O+ = ¥
OZ2F (a7 41 ®)
O &3 & FATRSF
O1 7l g kE 20024841 %
O Jf.ta. -+
ORE 4 HoB v 85 iy
Oigic #74gdF = B 17 A= %
O Az 3
OF L ##
O&mio(%3 ER)
OFE*%
OaLEFFE(EEH)
O’ Ef
Oe¥ SRR
OrEit ki %z
OF - #HEAEZ
Ot kg (- .2 .2 R)
O+ 2 ¢
OftHtrrEMRH T ¥
Ot 372 R+
O?ﬁ%ﬁ&
LT -
jlx kT - Hp
Rk A By

A% (MAU. AHU)

100 &

OFA#FMo7P Rt xRy
O & 7+ 3 (MAU. PAH. PKG. AHU)
O=Hk T (53 k)
Ofex7

AR
O2+Fxx
O 27—¥ ¥ Fiq
OFxz»
Op? FERf H
OF it F b

O3 (= £ MAD)
f ¥ R

O
S
&3 ke @
e b
¥

OL"PT

OByl >R RE S REFELIR
O s &7 2 F ~ FlE (MAU. PAHU. AHU. RCU)
Op pdiade
O 2 #
Or'/*h'r“ *%ﬁ—;gﬂm{"‘*&@
OF &= ?Hi FEF
Of =+
Ol U o o 28

(I F R
O MEFR(AY 1T ET®)
OZ2%EFh(s® 1 %¥%)
O KAHFHFF®)
OPraFfL4
Opgzit
OfF ~ R (59 < 72%)
OF = B (@ T &)
OF Bk g = I (7 F8)
Opw
OxZhttsr2
Oﬁ]haﬁi#i
Op &%+ Fi-kiekkixgE1 e

K (MAU. PAHU. AHU)

Oﬁ;ﬂ*?}i%i( 2 A

100&- i3

= o H= # (AHD)
Oi@,musw
Ol kg



	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5
	投影片編號 6

